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Time : 3 Hours

Maximuon. Marks : 80
Min. Passing. Marks : 26

Attempt any five questions, selecting gne question from each unit.
All Questions carry equal marks, Schematic didgrams must be
shown wherever necessary. Any datq vou feel missing suitably be
assumed and stated clearly. Unjts of quantities used / calculated
must be stated clearly.
Use of following supporting material is

owin _ perntitted during examination.
(Mentioned in form No. 203) '

1. . Nil 2,

- Nil

UNIT -1

1 . (3 Define structure in C and how it is declared. Explain with snitable
/ example.

8
(}/) How are structure element accessed using a pointer ? Which operator is used

give example ?

. o
OR
1 (a) Explain nested structure and its need with a suitable example.
(b) How passing structure to function 7 Give an example.
8
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UNIT
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< (@) Explain the ¢oneept of object oTlented anarysic <o
of analysis, VSIS with Xplanation of all steps
; . ) . .

{(b) What is the meaning of MESSARE passing 2 Explain in-brier,
3
OR .

2. y How we create and destro

oW y object dynamically usi '
discuiss with example. Y using new and delete operator

k]

@ Write short note on constructors ang destructors in” C++.

UNIT -1

3 @ What is type conversion jn.C-t+ ?

ypes 3 How it is achieved in user defined data
ypes 7 : |

8
?/ What is operator overloading ? Why do need operator overloading ?

OR

3 (a) Whatare the limitation of overloading unary increment / decrement operator ?
Write \a program to overload unary operator.

8
(b}, How we concatenate two string by (+) operator give suitable cxample,
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UNIT _ v
4ﬂyWhat is inheritance 9 Wh

At are e various forms of inpert
Explain each with , the Mheritance 9
P the help of examples.

, 1
((,b‘J/ Define virtual function, Why We. need it ? “
' " 6
L4 OR
4 (a) Explain the term dynamic binding, How it is useful in QOPs 7
| 8
(b) Discuss abstract data tYpe concept. How is an abstract class useful ?
8

UNIT - v

5/- ?}’ Design two classes to show the multiple inheritance. How does a object of

derived class access the member of base class 7 ' -
8
| }J;r'(- Write short note ofi Templates. |,
L. 8
OR |
S (a) Explain, the effect of using the access specifiers with class members on
inheritance, '
i o 8
(b)" “Write short note on exqépﬁmgndling.
8
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